
Feb 21 _reg class.notebook

1

February 21, 2019

Warm­Up
13u ­ 6 + 5u =  12+ 16u ­8 1)  2) 3(1 + 3r ) = 2( 2 ­ 3r )

2                 3
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Warm­Up
1)  3(1 + 3r ) = 2( 2 ­ 3r )

2                 3
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Warm­Up
2) 

13u ­ 6 + 5u =  12+ 16u ­8 
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­2 < t

­6­7­8­9 ­5 ­4

­6­7­8­9 ­5 ­4

876 9 10 11

Graph the  following 

Write the inequality that represents the graphs  
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Last Nights Homework
Any Questions ?????

Page 292­293

Questions: 3(aceg), 4, 7(ac)   

 8,9, 11a,12,13(aceg)
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Equations 

x+ 6 = 10
Inequality 

x+ 6 < 10

There is only 

one solution  There are many solutions.   
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i) Solve the inequality 

ii)  Verify 

iii)Graph on a number line 

6 < x ­ 4 

Hint: Easier if you 
always solve for a 
positive variable 
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2.    5 >  m + 12
Try These!

3.   -2y < -3y +1
Always move the smaller variable
Remember: 
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4.   -4y + 7 >-5y +1
Always move the smaller variable

Remember: 
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a few days from now 

I hope that my 

business makes more 

than I invested
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Let's Have A Look ....

Place a >  or < sign that makes the 
statement true.

5 ­7
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Let's Have A Look ....

Place a >  or < sign that makes the 
statement true.

­6 ­18

Now lets divide each side by (­6) 

What do you notice???
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1) When you multiply or divide a inequality by a positive number the 
     inequality remains the same.

2) When you multiply or divide a inequality by a "negative number" the 
     inequality must be reversed(switched) in order to remain true.

     5   >   ­1
5(3)   >   (­1)(3)
   15   >   ­3

Example)

12  >  ­10
12 ÷(­2)       ­10÷(­2)

12 ÷(­2)         ­10÷(­2)

Switch inequality since divided by a negative

­6 < 5

NOTE:

 When solving an inequality, we use the same strategy as for solving an equation. 

BUT 

   Remember when we divide or multiply by a negative number, we reverse the      
   inequality sign.

FIX
<
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Switch the inequality sign ONLY 
when you divide or multiple by a 
negative 
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       2 x + 4 > 6
       3

Graph the following and give 3 examples of solutions
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x + 3 <  2 x ­ 4
2 3
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Classwork / Homework:

p.  298
4
#6
#7
#9
#12
 # 13
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